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Linear Equations in One Unknown

Solution
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8.	 Let the cost of an audio tape be $x. Then the cost of a 
video tape will be $3x. We have
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	 ` The cost of an audio tape is $40 and the cost of a video 
tape is $120.

9.	 Let n be the greater number. Then the other number is  
n - 2 according to the question,
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	 ` The greater number is 17.
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10.	 Let Tim originally has $P. Then Abby originally has  
$(1 200 - P).
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	 ` Tim originally has $450.

11.	 Let n be the present age of Charles. Then 5 years ago, his 
age was n - 5.
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	 ` n = 14
	 ` The present age of Charles is 14.

12.	 L e t  $P  b e  Z o e’s  share .  Then  Karen’s  share  i s  
$(288 - P).

	

P P

P P

P

P

P

P

288 2
1 18

288 2
1 18

288 2
3 18

288 18 2
3

270 2
3

3
2 270 3

2
2
3

# #

- = +

= + +

= +

- =

=

=

	 ` P = 180
	 ` Zoe’s share is $180.


